Page:1 of 2

%5 o BAPERAEFELERIUBEXRS

®E4OE2AFPERELRERFEASUBE RS RE—ER
NDY 7 kRS ST LI

A fF fiH 147 2 {ir 34 447 5 {ir 6 ir 7 8L
6/30 100m |fiEH #H2%E 1 12,11 |#fG 28 1 12.36 \ftig ok 1 12.38 [HLf HR 1 12.51 [ KW #in 1 12.54 (el w1 12.55 [HAMRMER 1 12.63 g HWA 1 12.71
HEE +0.5 | 500 +0.5 [IWEE = +0.5 |ILJEH— +0.5 PRIUE= +0.5 |4 i) +0.5 |[#[dk +0.5 | KfH +0.5
6/29 100m |#hi fEK 2 11.90 |75 & 2 11.98 |SEl 143 2 12.00 ffik 2 12.30 |5k ®iE 2 12.34 8kH Fik 2 12.42 FHI & 2 12.53 |[FE : K #6570 12.53
AN -2.8 PRI = -2.8 |#pHT -2.8 PKIUEA -2.8 |H=)I| -2.8 IWJEH -2.8 |4 [ -2.8 [l -2.8
6/29 100m g kE 3 11.74 |0 EA 3 11.75 |f*fs HIE 3 11.76 |5 H w3 11.94 [®H  FofE 3 12.05 HEA el 3 12.10 'KV 58X 3 12.10 #vK  ME— 3 12.18
)\ -2.3 |k -2.3 | HURF— -2.3 KIRGE= -2.3 IWEH+ -2.3 | K#§— -2.3 | KN -2.3 KRIRE— -2.3
6/30 200m |[fRMA AE 3 23.08 ik Bt 3 23. 11 ey &3} 2 23.26 | K¥H sk 3 23.39 gk HEsk 3 23.55 [ FE 3 23.61 HI B&F 3 23.69 % BEA 3 23. 87
HUREE— +2.5 AR — +2.5 |4HT +2.5 | KEgm +2.5 @S +2.5 DRIREEM +2.5 LBHEA +2.5 Bk +2.5
6/29 400m |8 FE O3 52.60 ‘HR BFH 3 53.17 ik Bth 3 53.73 PGS G 2 53.98 |FEiE E 3 54.77 A K& 3 54.85 | =% K@ 3 55.40 |#HH Kl 3 55. 97
KR B A HARH— =HH i 25 [OE AR IEH=
6/29 800m il HE 3 2:02.18 Ay & 3 2:02.56 |k = 3 2:02.86 |[EmM B#& 3 2:03.73 |tk AR 3 2:07.98 | BEHKH 3 2:08. 11 [kl &% 3 2:08.46 | AR 3 2:08. 89
e KPE = B EN I 55— L 5 = ILBEE— &1l IEH=
6/30] 1500m |4t EE 1 4:30.38 |G K 1 4:33.33 K wEZ 1 4:39.77 VNS B 1 4:41.90 & 1 4:48.58 |[WU%e  Wefh 1 4:52.51 | Fiu & 1 4:53.10 &)1 W1 4:55. 59
i — 174 FH 45 1Y i i KR £H A il 4l
6/30) 1500m {HE #iF 3 4:12.47 &% Rl 3 4:13.94 fpil %= 3 4:15.88 @@ HERES 3 4:15.96 FEA FE 3 4:15.99 \ZHiE M 3 4:16.79 |BH & 3 4:17.77 K BE 3 4:18. 07
e\ FI e NEEEA KYPUE = BSAE KU I i 55—
6/29| 3000m |HH ® 3 9:15.78 [EEHDEAKRS 3 9:17.77 |&H fi 3 9:19.34 FiHk MERk 3 9:21. 11 ikl £&H 2 9:26.68 IR 2 9:29.82 H L K& 3 9:30.20 i fFHE 3 9:31. 80
KB i 25 HARH — il K H M ILBEE — I e JRAER
6/30] 110mH |&HIEHEKE 3 15.52 g #A 3 165.75 | LW HEE 3 16.16 |[FE : e S35 16.16 |{6fm  Beth 3 16.26 |J\#f fEfd 3 16.30 |fi Firt 3 17.71 [tPJIl #sF 3 18. 84
(0. 914m) LB = +1.6 | HURA— +1.6 |5 +1.6 |&H +1.6 | KHH— +1.6 |¥EM +1.6 [l — +1.6 KRN +1.6
6/30] 4X100m | K&EH— 48.32 KIEE= 48.41 (4 W] 48.89 |ILIJEEE = 48.95 KIUHTL 49.19 |[LIJEH— 49. 79 [ H 5 49.87 [ILEE+ 49. 91
MR ORBE 1 WD RS 1 WA Bk 1 fHgE gl 1 [SP I SR M W 2 bR BEZE 2 EREOER 1
BEOE 1 KH #Har 1 Rl M 2 RN R 2 Rt BN 2 fl B=RE 1 G EME 1 HE Soth 2
EiE R 2 L B 2 & AHE 1 SEH R 1 WD K 2 g desk 2 I MR 2 g #®o1
R BAK 2 BE K 2 S f&sp 2 HA EE 2 PerraLRkBl 1 A BR 1 G WA 1 K K 2
6/30 4X100m |FyifE/\i 44.36 KIEE = 44,57 | HURE— 45.34 [ILJBEE = 45. 87 LB+ 45.91 |EE M 46. 33 | KEH = 46. 45 |[FIE : KEH— 46. 45
i R 3 NGR| HA HAF 3 SEH KO 2 HAREBE 3 HE SN 3 o #H 3 MR E 3 Kb mEE 3
i fEK 2 BH R 3 ek B 3 EREEARRS 3 ®_HE fEE 3 gk Mk 3 XKa = 3 B R 3
MR 3 TR R 3 meE - A 3 EHHOKE 3 il B 2 M #EE 2 Bt OB 2 W M 3
g kE 3 R G 2 frfy FIE 3 HEHREZ 3 Drig Kit 3 R s 3 SR MER 3 iEhm Skt 3
BrdE 6/29 s TR tRA 3 Im79 |FkG Bk 3 Im73 VMR —fF 2 1m65 [WEEX4 I 3 Im65 4G % 3 1m65 /NEFIEA 3 Im60 ZH L 3 1m60 |[FIIE : kG B 1m60
B ffig B EN [N | I SRREE KU — i L —
PBrHam [6/29 Mk ESE 3ms0 | KA KFE 3 3ml10 #z% =K 3 3ml0 |Hff Zlke 3 3ml0 [AfE e 3 3m00 ek EfE 3 2m90 KR Fikt 3 2m80 ﬁ}% EEIN 2m80
KA KR e+ KA H G ] KA H
Br-dm [6/30 AMRBE EiE KR 3 5m92 Y H 3 5m91 Tﬁ% B3 5m90 |l FA 3 5m83 |EFk & 2 5m65 [Ff L W~ 3 5m59 |G FEA 3 5m59 *ﬁm BE 3 5m55
K50 +1.9 DRI = 0.1 |EEEN +0.2 |k +1.5 RPGH T +2.7 [EHE +0.7 |8 +1.5 RIRE +0. 1
PB4k 6/30 T AL W EFl 3 13m67 R A 3 om22 & EE 3 10m14 |HER fHE 2 10m05 |WFf  HIk 3 10m02 |Fk%E Kl 2 om86 | Kl it 2 m27 T8 HEER 3 9m27
(5.000kg)  |#i5] NOES i [RE[H A5 K= KA R
Brdbiwm 6/29) UAEREE |\ KESF O3 2187 \BF  fERE 3 2174 \WejE sE 2 2037 B ORERE 2 1942 7 %3} 3 1920 s it 3 1814 A% # 2 1750 & REA 2 725
6/30 KA HiE ) &H REH= K — i HRE K
110mH-Fil AL - A BE-400m 15, 74/ 0. 0-9m43-1m45-54. 43 16. 05/+0. 5-10m53-1m45-55. 54 16.05/ 0. 0-9m11-1m55-58. 89 17. 68/+0. 5-8m36-1m55-55. 64 18.66/ 0. 0-8m43-1m69-56. 78 18. 16/+0. 5-9m74-1m50-59. 06 17. 18/+0. 5-Tm67-1m45-59. 09 28.03/ 0.0-6m94-1m35-1:10. 05
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HE4ORLAXPERELBBERFEASIUERF RS RE—=R
NV 2 FR4 D7 LI
AfF fiH 147 2{ir 34 4 fir. 5 {ir 6 i1 7t 8L
ZF 14 6/29 100m |l AHE 1 13.26 | /I K% 1 13.61 [ilH #®A 1 13.87 |fE%e &F 1 13.90 [iEH F3E 1 13.97 AH f2g 1 14.23 1o &% 1 14.23 | F% v 1 14. 27
i = -2 [HURE -1.2 | -1.2 |#EL -2 R -1.2 |4 -L2 PRPGER -L2 A -1.2
LA 24 16/30 100m [#AK #k 2 12.68 [T Hn 2 12.96 /hE 29l 2 13.24 |HfE HEr 2 13.25 |fefk & 2 13.30 BAVE R 2 13.31 [fof A 2 13.40 |&2f WeAr 2 13.47
KEH +1.6 KRIEEAN +1.6 RIS +1.6 (LB = +1.6 [ fplT +1.6 ([LBE+ +1.6 | +1.6 KRIREE T +1.6
#F 34 6/30 100m |4 3 3 12.64 |53 #H 3 12.82 [faE WEE 3 12.99 Ml %75 3 13.11 | R4 #E 3 13,12 \ZFEHPR 3 13.13 [F5)I1 2% 3 13.22 #fr KM 3 13.25
FHAL -0.2 [FRE -0.2 RPN -0.2 EME= -0.2 |FRE -0.2 [IJEH— -0.2 KiRE— -0.2 PRIREA -0.2
f-IE 6/29 200m |[HH ¥ 3 25.76 |5 EHE 3 26.15 |ERREPESE 3 26.68 #ifr W3 26.96 | KH pfkE 3 26.99 BHE £ 2 27.26 /NE B 2 27.34 |RY #EEF 3 27. 44
FHAL -1.5 [FRE -1.5 [IWJEH -1.5 | = -1.5 |&H -L.5 IJEH+ REEESN -1.5 |iE -1.5
A 14 6/30 800m |RE WIF 1 2:20.29 |[®H T 1 2:20.65 /hAJEL L1 2:24.08 |[[E® L 1 2:26.54 |EifE EE 1 2:30.47 |8 HRAE 1 2:31.07 |2 & 1 2:33.07 | R BRE 1 2:35. 21
KR AL e\ i 25 JEAER EHE FI Bk
4w 6/29 800m ek W 3 2:15.19 FHE B 3 2:17.97 | B¥F K 3 2:18.25 Wi FEA 3 2:22.38 EHONMY 3 2:22.52 [k HF 2 2:26.27 %iE HF 2 2:26.83 V5% K 3 2:27.27
RHE S B 55— F5ifE i 1B+ BSAE JBAER B fi 5500
@ 6/300 1500m  (fERE 3 4:45.67 \FFHE B 3 4:51.66 | KiFEZRY 2 4:54.26 'HHOMY 3 4:55. 21 |{8H B 2 4:56. 71 MR RS 2 4:58.79 |WHI KH 3 4:58.91 & AF 2 4:59. 62
#H T FE )\ I I+ T — LI KR T [FIREH L
@ 6/300 1 00mH (e o 2 15.07 | Kk HE&E 2 15.32 |3 z2v 3 15.58 | HAA%T) 2 16.12 | K¥E  HiE) 2 16.13 |#fN Tt 3 16.43 |HfEZED 2 16.80 % fEH 3 17.02
(0. 762m) =N +0.1 | Ehdk +0.1 IS — +0. 1 B 5500 +0.1 [ +0. 1 [#BMIE I +0.1 PRIUHEA +0.1 |\ +0. 1
LAKEAE (6/30) 4X 10 0m | KEE 54.31 [ff HT 54.52 |ifF & 55. 05 [ HZ5M 55.34 | 1Lk 55.64 i [ 55.75 | KIEH— 55.96 | KE 5P 56. 02
HOE 1 _H RS 1 B OEE 1 PRk ER 1 B I | i fRE 1 gLV 1 A 21
ZiOmE 1 ek #E 2 G W%k 2 MoREE 1 K iz 2 i AE 2 gk e 1 (S EH 2
HEE 2 _H g 1 I OBERE 1 R HE 2 i 1 MERME 1 fER B 2 g ¥ 1
WA Wk 2 FHE EEE 2 A 2 AW HER 2 AW KA 2 gk 0AH 2 A FER 2 IHHE<H 2
3L (6/30) 4X100m [KREAR 50.22 I = 51.58 I & 51.97 iF & 52. 05 WEHH = 52.31 B W 52. 35 [l 55 = 52.48 |l 5 — 52. 85
A3 s 2 HARE 2 e T 3 wiE FmM 2 g #EH 3 rrE 3 Ve HE 2 S RUE 3
g eE 3 &1 M3 R g3 oG ©$o 2 H ®Js 3 g fno2 gk EE 2 g B 3
faTs = = 3 EiE Pk 2 i EB&E 3 EE ¥ 3 ek R 3 MErB R 3 B L7 3 oG DA 3
Ma kKB 3 L A Ry 3 KH - WEE 3 i AE 1 BE R 2 =R 3 IS ]
3@ 6/30 s [EHEIE 3 1m48 iAW AKH 2 Imd5 | HkE RAE 3 Im35 |[FIE : RIS ELME 1m35 |[FIE : #CH VDRt 1m35 |HlE3E 2 1 2 Im35 4% HEifi 2 Im35 gk FEif 3 1m35
B A bk eI EHE RHA K — i il H
-dE 6/29 ARk g eE 3 5mb2 g Fa 2 sm2l [7EME & 3 5mi8 ek WA 3 5m13 |Folh AL 2 4m99 (R 2 4m96 [gAA  ZEA 3 am73 |fEE B 3 4m63
KRS +4.0 |HHN +3.1 |&HE +1.4 EME +2.5 | +2.9 IJEH+ +2.2 ||ILJB +1.5 iﬁﬂa%i -0.2
-dE 6/29 Tt = # 3 12m10 |HAR ¥+ 3 11m80 | =% H#] 3 10m74 |fEfE £EH 3 1om62 |EH VRt 3 10m04 | F A& 3 om99 | AR IbA 3 omo2 |LEMMAYE 3 967
(2.721kg) | HUREE— T — KEH= LE] #H i A — REH= JEtIN
At 16/29) WUREBH  |EESox 3 2120 |tk 2 2003 [FATH OEK 3 1997 HHE sHE 2 1857 Af % 3 1844 Hi% B 3 1742 @R BEME 3 1434 RHERELT) 2 1373
6/30 FE| B fi 5500 Ry AT FI eI i) KEH =
100mH- 7 i Pk-fig AL$£-200m |16. 81/-0. 3-1m35-8m07-27. 91/+0. 7 16. 47/-0. 9-1m35-Tm89-29. 85/+2. 5 17.63/-0. 9-1m30-8m45-27. 97/+2. 5 16. 90/-0. 9-1m25-5m86-28. 03/+2. 5 18. 04/-0. 3-1m30-6m51-27. 79/+0. 7 18. 38/-0. 3-1m30-8m40-30. 35/+0. 7 19. 29/-0. 9-1m20-7m64-31. 50/+2. 5 8. 16/-0. 3-NM-7m79-29. 54 /+0. 7
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